
Class 10 (NCERT)

Calculus

Chapter 4 - Quadratic Equations
Exercise- 4.2

Exercise- 4.1

2h2 -5k -13=0 }¥-2Nd - 2k - 3N -13=0

2n( n - 1) -31N -11=0
✗=L

, 3/2(2N - 3) (N - 1) =o

either 2h-3=0 Or . K -1=0

a- 3/2 R=1 .



6 2=0

2¥6h2 - Use -13k-2=0

zn (3N - 2)+ l(3h -21=0
- y µeither (2N -117=0 Or 3h -2=0

N= -1-2 ✗ = 2/3
.
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3N
"

-56N -56N -12=0 56×56

3N
"

-53.52N -5352N -12=0 (F)
5345$ n - 52) - Jz(Tsa -523=0 -56-56

- 256(53N - 52)(53k -523=0
56=53×2

JJ ✗ - 52=0
JIN-52=0 = 53.52

a. 5%155. " Y÷F; "5%
.



✓ ✓

TñK=o
IN -15k -12N -1552=0 ¥
N(jTx + 5) +52152N -157=0 Ri - Ja , -5152

( K -152) ( 52k -153=0

either 2+52=0 Or 52N -15=0
✗= - J2 N= -5/52

.



2h2 - n +tg=o ¥÷=16*+1--0
I = 0 2×2×2×2

16N ' -4N -4×+1=0
-4 -4

4u(4a - 1) - (421-1)=0

either 4×-1=0 or he -1=0

"¥ ' !

Nelly 2=1/4



Let
+
No -_ a

• = " TIdNo=zi - a
Ist No. 13

#dNo -14 (N)(27-24=182
27N - k2= 182

N=l4

☒0=14
U2 - 27×+182=0 2×7×13

IMHO .
-13. R2- 14N -13N -1182=0 -14 -13

MIN - 14) -131k -141=0 ⇒ a-13=0 se -14=0
2=13,14 . 1--13 1=-14.



Ist No . → a
a- 13=0 k-714=0 TID No

.
→ ✗+ I

N= 13 ,
-14

.

x2 -1 ( ✗ +15=365
"=\"

get + ✗2+1 +gn=zgg
/ (9+5)<=92+52-12ab.

Ist No ,-713
2x
"
-12N -11-365=0

Indio . →
13+1

2N
'

-12N -364=0 ,}§_-N' + x - 182=0
=/ 4 . R2 -114N -13N -182=0 -13+14

KCR -114) - 13th -1147=0



Let Base __ seem

ase=12
'
3cm

.

Altitude -
-12-7 Altitude -_ be -7) cm .

x-p .

=
5 H= 13cm.

42=132-1,02 K
Uh - 7N-60=0 ¥0435k x2 -11N -75
R2- 12h -15k -60=0 }¥5

22-1 ✗ 2+49 -14N=/69 NCR -121+512-121=0 3,1
222 - 14h -149-169=0 Kt5=o se-12=0

2h2- 14k - 120=0 N= -5 ✗=/2 -12+5

R2- TR - 60=0 * = -5,12 .
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Let No . of articles __ n .

Cost of Production -_ 2k -13

k(2k -131=90 ¥% is -122h2 -13N -90=0 -

2h2 -115N - 12h -90=0 §¥¥ =3
.

k( In -115) - 612N -1151--0
+15 -12µ - 6) ( In -1151=0



either K- 6=0 Or In -115--0

A- 6 2=-15/2
No . of articles -_ 6

Cost of each article = In -13
a 2×6 -131--12-13

= 15 .


